A NOTE ON SOME GROWTH PROPERTIES OF ENTIRE FUNCTIONS USING THEIR GENERALIZED RELATIVE L*-ORDERS

Sanjib Kumar Datta and Tanmay Biswas

Communicated by Ayman Badawi

MSC 2010 Classifications: 30D35, 30D30, 30D20.

Keywords and phrases: Entire function, generalized order (generalized lower order), slowly changing function, generalized relative L^* -order (generalized relative L^* -lower order), growth.

Abstract In this paper we investigate some growth properties of entire functions on the basis of generalized relative order (generalized relative lower order) as well as generalized relative L^* -order (generalized relative L^* -lower order).

1 Introduction, Definitions and Notations

Let f be an entire function defined in the open complex plane \mathbb{C} . For entire $f = \sum_{n=0}^{\infty} a_n z^n$ on |z| = r, the maximum modulus symbolized as $M_f(r)$ is defined as $\max_{|z|=r} |f(z)|$. If f is nonconstant entire then $M_f(r)$ is strictly increasing and continuous and therefore there exists its inverse function M_f^{-1} : $(|f(0)|, \infty) \to (0, \infty)$ with $\lim_{s \to \infty} M_f^{-1}(s) = \infty$. Moreover for another entire function $g, M_g(r)$ is too defined and the ratio $\frac{M_f(r)}{M_g(r)}$ when $r \to \infty$ is called the comparative growth of f with respect to g in terms of their maximum moduli.

The order ρ_f of an entire function f which is classical in complex analysis is defined in the following way:

$$\rho_{f} = \limsup_{r \to \infty} \frac{\log \log M_{f}(r)}{\log \log M_{\exp z}(r)} = \limsup_{r \to \infty} \frac{\log^{[2]} M_{f}(r)}{\log r} .$$

An entire function for which *order* and *lower order* are the same is said to be of *regular* growth. Functions which are not of *regular* growth are said to be of *irregular* growth.

In this connection let us recall that Sato [4] defined the *generalized order* and *generalized lower order* of an entire function f, respectively, as follows:

$$\rho_{f}^{[k]} = \limsup_{r \to \infty} \frac{\log^{[k]} M_{f}(r)}{\log r} \left(\text{ respectively } \lambda_{f}^{[k]} = \liminf_{r \to \infty} \frac{\log^{[k]} M_{f}(r)}{\log r} \right)$$

where k is any positive integer and $\log^{[k]} x = \log \left(\log^{[k-1]} x \right)$, k = 1, 2, 3, ... and $\log^{[0]} x = x$. These definitions extended the order ρ_f and lower order λ_f of an entire function f since these correspond to the particular cases $\rho_f^{[2]} = \rho_f$ and $\lambda_f^{[2]} = \lambda_f$. An entire function for which generalized order and generalized lower order are the

An entire function for which generalized order and generalized lower order are the same is said to be of generalized regular growth. Functions which are not of generalized regular growth are said to be of generalized irregular growth.

Somasundaram and Thamizharasi [5] introduced the notions of *L*-order and *L*-lower order for entire function where $L \equiv L(r)$ is a positive continuous function increasing slowly i.e., $L(ar) \sim L(r)$ as $r \to \infty$ for every positive constant 'a'. The more generalized concept for *L*-order and *L*-lower order for entire function are L^* -order and L^* -lower order respectively. Their definitions are as follows:

Definition 1.1. [5] The L^* -order $\rho_f^{L^*}$ and the L^* -lower order $\lambda_f^{L^*}$ of an entire function f are defined as

$$\rho_{f}^{L^{*}} = \limsup_{r \to \infty} \frac{\log^{\lfloor 2 \rfloor} M_{f}(r)}{\log \left[r e^{L(r)} \right]} \text{ and } \lambda_{f}^{L^{*}} = \liminf_{r \to \infty} \frac{\log^{\lfloor 2 \rfloor} M_{f}(r)}{\log \left[r e^{L(r)} \right]}.$$

In the line of Sato [5], Somasundaram and Thamizharasi [5] one can define the generalized L*-order $\rho_f^{[k]L^*}$ and generalized L*-lower order $\lambda_f^{[k]L^*}$ of an entire function f in the following way:

Definition 1.2. Let k be an integer ≥ 1 . The generalized L^* -order $\rho_f^{[k]L^*}$ and generalized L^* -lower order $\lambda_f^{[k]L^*}$ of an entire function f are defined as

$$\rho_f^{[k]L^*} = \limsup_{r \to \infty} \frac{\log^{[k]} M\left(r, f\right)}{\log\left[re^{L(r)}\right]} \text{ and } \lambda_f^{[k]L^*} = \liminf_{r \to \infty} \frac{\log^{[k]} M\left(r, f\right)}{\log\left[re^{L(r)}\right]}$$

respectively.

An entire function for which generalized L^* -order and generalized L^* -lower order are the same is said to be of generalized L^* -regular growth. Functions which are not of generalized L^* -regular growth are said to be of generalized L^* -irregular growth.

For any two entire functions f and g, Bernal {[1], [2]} initiated the definition of relative order $\rho_q(f)$ of f with respect to q which keep away from comparing growth just with exp z to find out order of entire functions as follows:

$$\begin{split} \rho_g\left(f\right) &= & \inf\left\{\mu > 0: M_f\left(r\right) < M_g\left(r^{\mu}\right) \text{ for all } r > r_0\left(\mu\right) > 0\right\} \\ &= & \limsup_{r \to \infty} \frac{\log M_g^{-1} M_f\left(r\right)}{\log r}, \end{split}$$

and of course this definition corresponds with the classical one [6] for $g = \exp z$.

Analogously, one may define the relative lower order of f with respect to q denoted by $\lambda_q(f)$ as

$$\lambda_{g}(f) = \liminf_{r \to \infty} \frac{\log M_{g}^{-1} M_{f}(r)}{\log r}$$

In the line of Somasundaram and Thamizharasi [5] and Bernal {[1], [2]}, one can define the relative L^* -order and relative L^* -lower order of an entire function in the following way :

Definition 1.3. The relative L^* -order and relative L^* - lower order of an entire function f with respect to another entire function g, denoted respectively by $\rho_g^{L^*}(f)$ and $\lambda_g^{L^*}(f)$ are defined in the following way

$$\rho_{g}^{L^{*}}\left(f\right) = \limsup_{r \to \infty} \frac{\log M_{g}^{-1} M_{f}\left(r\right)}{\log\left[re^{L\left(r\right)}\right]} \text{ and } \lambda_{g}^{L^{*}}\left(f\right) = \liminf_{r \to \infty} \frac{\log M_{g}^{-1} M_{f}\left(r\right)}{\log\left[re^{L\left(r\right)}\right]}$$

Lahiri and Banerjee [3] gave a more generalized concept of relative order in the following way:

Definition 1.4. [3] If $k \ge 1$ is a positive integer, then the k- th generalized relative order of f with respect to g, denoted by $\rho_q^{[k]}(f)$ is defined by

$$\rho_{g}^{[k]}(f) = \inf \left\{ \mu > 0 : M_{f}(r) < M_{g}\left(\exp^{[k-1]}r^{\mu}\right) \text{ for all } r > r_{0}(\mu) > 0 \right\}$$
$$= \limsup_{r \to \infty} \frac{\log^{[k]}M_{g}^{-1}M_{f}(r)}{\log r} .$$

Clearly $\rho_g^1(f) = \rho_g(f)$ and $\rho_{\exp z}^1(f) = \rho_f$. Likewise one can define the generalized relative lower order of f with respect to g denoted by $\lambda_a^{[k]}(f)$ as

$$\lambda_{g}^{\left[k\right]}\left(f\right) = \liminf_{r \to \infty} \frac{\log^{\left[k\right]} M_{g}^{-1} M_{f}\left(r\right)}{\log r}$$

An entire function for which generalized relative order and generalized relative lower order are the same is said to be of generalized relative regular growth. Functions which are not of generalized relative regular growth are said to be of generalized relative irregular growth.

Similarly in the line of Somasundaram and Thamizharasi [5], Lahiri and Banerjee [3], one can define the generalized relative L^* -order and generalized relative L^* -lower order of an entire function in the following way :

Definition 1.5. Let k be an integer ≥ 1 . The generalized relative L^* -order and generalized relative L^* - lower order of an entire function f with respect to another entire function g, denoted respectively by $\rho_g^{[k]L^*}(f)$ and $\lambda_g^{[k]L^*}(f)$ are defined in the following way

$$\rho_{g}^{[k]L^{*}}\left(f\right) = \limsup_{r \to \infty} \frac{\log^{[k]} M_{g}^{-1} M_{f}\left(r\right)}{\log\left[r e^{L(r)}\right]} \text{ and } \lambda_{g}^{[k]L^{*}}\left(f\right) = \liminf_{r \to \infty} \frac{\log^{[k]} M_{g}^{-1} M_{f}\left(r\right)}{\log\left[r e^{L(r)}\right]}$$

An entire function for which generalized relative L^* -order and generalized relative L^* -lower order are the same is said to be of generalized relative L^* -regular growth. Functions which are not of generalized relative L^* -regular growth are said to be of generalized relative L^* -irregular growth.

In this paper we have established some comparative growth properties of entire functions on the basis of generalized relative order (generalized relative lower order) as well as generalized relative L^* - order (generalized relative L^* -lower order). We do not explain the standard definitions and notations in the theory of entire function as those are available in [7].

2 Main Results

In this section we present the main results of the paper.

Theorem 2.1. Let f, g and h be any three entire functions such that $0 \leq \lambda_h^{[k]L^*}(f) \leq \rho_h^{[k]L^*}(f) < \infty$ and $0 \leq \lambda_h^{[k]}(g) \leq \rho_h^{[k]}(g) < \infty$ where k is an integer ≥ 1 . Then

$$\begin{split} \frac{\lambda_{h}^{[k]L^{*}}\left(f\right)}{\rho_{h}^{[k]}\left(g\right)} &\leq \quad \lambda_{g}^{L^{*}}\left(f\right) \leq \min\left\{\frac{\lambda_{h}^{[k]L^{*}}\left(f\right)}{\lambda_{h}^{[k]}\left(g\right)}, \frac{\rho_{h}^{[k]L^{*}}\left(f\right)}{\rho_{h}^{[k]}\left(g\right)}\right\} \\ &\leq \quad \max\left\{\frac{\lambda_{h}^{[k]L^{*}}\left(f\right)}{\lambda_{h}^{[k]}\left(g\right)}, \frac{\rho_{h}^{[k]L^{*}}\left(f\right)}{\rho_{h}^{[k]}\left(g\right)}\right\} \leq \rho_{g}^{L^{*}}\left(f\right) \leq \frac{\rho_{h}^{[k]L^{*}}\left(f\right)}{\lambda_{h}^{[k]}\left(g\right)} \end{split}$$

Proof. From the definitions of $\rho_h^{[k]L^*}(f)$ and $\lambda_h^{[k]L^*}(f)$, we have for all sufficiently large values of r that

$$M_f(r) \leq M_h\left[\exp^{[k]}\left\{\left(\rho_h^{[k]L^*}(f) + \varepsilon\right)\log\left[re^{L(r)}\right]\right\}\right], \qquad (2.1)$$

$$M_f(r) \geq M_h\left[\exp^{[k]}\left\{\left(\lambda_h^{[k]L^*}(f) - \varepsilon\right)\log\left[re^{L(r)}\right]\right\}\right]$$
(2.2)

and also for a sequence of values of r tending to infinity, we get that

$$M_f(r) \geq M_h\left[\exp^{[k]}\left\{\left(\rho_h^{[k]L^*}(f) - \varepsilon\right)\log\left[re^{L(r)}\right]\right\}\right], \qquad (2.3)$$

$$M_{f}(r) \leq M_{h}\left[\exp^{[k]}\left\{\left(\lambda_{h}^{[k]L^{*}}(f) + \varepsilon\right)\log\left[re^{L(r)}\right]\right\}\right].$$
(2.4)

Similarly from the definitions of $\rho_h^{[k]}(g)$ and $\lambda_h^{[k]}(g)$, it follows for all sufficiently large values of r that

$$M_{h}^{-1}M_{g}(r) \leq \exp^{[k]}\left\{\left(\rho_{h}^{[k]}(g) + \varepsilon\right)\log r\right\}$$

i.e., $M_{g}(r) \leq M_{h}\left[\exp^{[k]}\left\{\left(\rho_{h}^{[k]}(g) + \varepsilon\right)\log r\right\}\right]$
i.e., $M_{h}(r) \geq M_{g}\left[\exp\left[\frac{\log^{[k]}r}{\left(\rho_{h}^{[k]}(g) + \varepsilon\right)}\right]\right]$, (2.5)

$$M_{h}^{-1}M_{g}(r) \geq \exp^{[k]}\left\{\left(\lambda_{h}^{[k]}(g) - \varepsilon\right)\log r\right\}$$

i.e., $M_{h}(r) \leq M_{g}\left[\exp\left[\frac{\log^{[k]}r}{\left(\lambda_{h}^{[k]}(g) - \varepsilon\right)}\right]\right]$ (2.6)

and for a sequence of values of r tending to infinity, we obtain that

$$M_{h}^{-1}M_{g}(r) \geq \exp^{[k]}\left\{\left(\rho_{h}^{[k]}(g) - \varepsilon\right)\log r\right\}$$

i.e. $M_{h}(r) \leq M_{g}\left[\exp\left[\frac{\log^{[k]}r}{\left(\rho_{h}^{[k]}(g) - \varepsilon\right)}\right]\right],$ (2.7)

$$M_{h}^{-1}M_{g}(r) \leq \exp^{[k]}\left\{\left(\lambda_{h}^{[k]}(g) + \varepsilon\right)\log r\right\}$$

i.e., $M_{h}(r) \geq M_{g}\left[\exp\left[\frac{\log^{[k]}r}{\left(\lambda_{h}^{[k]}(g) + \varepsilon\right)}\right]\right].$ (2.8)

Now from (2.3) and in view of (2.5), we get for a sequence of values of r tending to infinity that

$$M_g^{-1}M_f(r) \ge M_g^{-1}M_h\left[\exp^{[k]}\left\{\left(\rho_h^{[k]L^*}(f) - \varepsilon\right)\log\left[re^{L(r)}\right]\right\}\right]$$

$$\begin{split} i.e., \ M_g^{-1}M_f\left(r\right) &\geq M_g^{-1}M_g\left[\exp\left[\frac{\log^{[k]}\exp^{[k]}\left\{\left(\rho_h^{[k]L^*}\left(f\right)-\varepsilon\right)\log\left[re^{L\left(r\right)}\right]\right\}\right]}{\left(\rho_h^{[k]}\left(g\right)+\varepsilon\right)}\right]\right]\\ i.e., \ \log M_g^{-1}M_f\left(r\right) &\geq \frac{\left(\rho_h^{[k]L^*}\left(f\right)-\varepsilon\right)}{\left(\rho_h^{[k]}\left(g\right)+\varepsilon\right)}\log r\\ i.e., \ \frac{\log M_g^{-1}M_f\left(r\right)}{\log r} \geq \frac{\left(\rho_h^{[k]L^*}\left(f\right)-\varepsilon\right)}{\left(\rho_h^{[k]}\left(g\right)+\varepsilon\right)}\,. \end{split}$$

As $\varepsilon > 0$ is arbitrary, it follows that

$$\rho_g^{L^*}(f) \ge \frac{\rho_h^{[k]L^*}(f)}{\rho_h^{[k]}(g)} .$$
(2.9)

Analogously from (2.2) and in view of (2.8), it follows for a sequence of values of r tending to infinity that

$$\begin{split} M_g^{-1}M_f\left(r\right) &\geq M_g^{-1}M_h\left[\exp^{[k]}\left\{\left(\lambda_h^{[k]L^*}\left(f\right) - \varepsilon\right)\log\left[re^{L(r)}\right]\right\}\right]\\ i.e., \ M_g^{-1}M_f\left(r\right) &\geq M_g^{-1}M_g\left[\exp\left[\frac{\log^{[k]}\exp^{[k]}\left\{\left(\lambda_h^{[k]L^*}\left(f\right) - \varepsilon\right)\log\left[re^{L(r)}\right]\right\}\right]}{\left(\lambda_h^{[k]}\left(g\right) + \varepsilon\right)}\right]\right]\\ i.e., \ \log M_g^{-1}M_f\left(r\right) &\geq \frac{\left(\lambda_h^{[k]L^*}\left(f\right) - \varepsilon\right)}{\left(\lambda_h^{[k]}\left(g\right) + \varepsilon\right)}\log r\\ &i.e., \ \frac{\log M_g^{-1}M_f\left(r\right)}{\log r} \geq \frac{\left(\lambda_h^{[k]L^*}\left(f\right) - \varepsilon\right)}{\left(\lambda_h^{[k]}\left(g\right) + \varepsilon\right)} \,. \end{split}$$

Since $\varepsilon (> 0)$ is arbitrary, we get from above that

$$\rho_g^{L^*}(f) \ge \frac{\lambda_h^{[k]L^*}(f)}{\lambda_h^{[k]}(g)} .$$
(2.10)

Again in view of (2.6), we have from (2.1) for all sufficiently large values of r that

$$M_{g}^{-1}M_{f}\left(r\right) \leq M_{g}^{-1}M_{h}\left[\exp^{\left[k\right]}\left\{\left(\rho_{h}^{\left[k\right]L^{*}}\left(f\right)+\varepsilon\right)\log\left[re^{L\left(r\right)}\right]\right\}\right]$$

$$\begin{split} i.e., \ M_g^{-1}M_f\left(r\right) &\leq \ M_g^{-1}M_g\left[\exp\left[\frac{\log^{[k]}\exp^{[k]}\left\{\left(\rho_h^{[k]L^*}\left(f\right)+\varepsilon\right)\log\left[re^{L\left(r\right)}\right]\right\}\right\}}{\left(\lambda_h^{[k]}\left(g\right)-\varepsilon\right)}\right]\right]\\ i.e., \ \log M_g^{-1}M_f\left(r\right) &\leq \ \frac{\left(\rho_h^{[k]L^*}\left(f\right)+\varepsilon\right)}{\left(\lambda_h^{[k]}\left(g\right)-\varepsilon\right)}\log r\\ i.e., \ \frac{\log M_g^{-1}M_f\left(r\right)}{\log r} &\leq \frac{\left(\rho_h^{[k]L^*}\left(f\right)+\varepsilon\right)}{\left(\lambda_h^{[k]}\left(g\right)-\varepsilon\right)} \ . \end{split}$$

Since $\varepsilon (> 0)$ is arbitrary, we obtain that

$$\rho_g^{L^*}(f) \le \frac{\rho_h^{[k]L^*}(f)}{\lambda_h^{[k]}(g)} \,. \tag{2.11}$$

Again from (2.2) and in view of (2.5), it follows for all sufficiently large values of r that

$$\begin{split} M_g^{-1}M_f\left(r\right) &\geq M_g^{-1}M_h\left[\exp^{[k]}\left\{\left(\lambda_h^{[k]L^*}\left(f\right) - \varepsilon\right)\log\left[re^{L(r)}\right]\right\}\right]\\ i.e., \ M_g^{-1}M_f\left(r\right) &\geq M_g^{-1}M_g\left[\exp\left[\frac{\log^{[k]}\exp^{[k]}\left\{\left(\lambda_h^{[k]L^*}\left(f\right) - \varepsilon\right)\log\left[re^{L(r)}\right]\right\}\right]}{\left(\rho_h^{[k]}\left(g\right) + \varepsilon\right)}\right]\right]\\ i.e., \ \log M_g^{-1}M_f\left(r\right) &\geq \frac{\left(\lambda_h^{[k]L^*}\left(f\right) - \varepsilon\right)}{\left(\rho_h^{[k]}\left(g\right) + \varepsilon\right)}\log r\\ i.e., \ \frac{\log M_g^{-1}M_f\left(r\right)}{\log r} &\geq \frac{\left(\lambda_h^{[k]L^*}\left(f\right) - \varepsilon\right)}{\left(\rho_h^{[k]}\left(g\right) + \varepsilon\right)}\,. \end{split}$$

Since $\varepsilon\,(>0)$ is arbitrary, we get from above that

i.e.

$$\lambda_{g}^{L^{*}}(f) \geq \frac{\lambda_{h}^{[k]L^{*}}(f)}{\rho_{h}^{[k]}(g)} .$$
(2.12)

Also in view of (2.7), we get from (2.1) for a sequence of values of r tending to infinity that

$$\begin{split} M_g^{-1}M_f\left(r\right) &\leq M_g^{-1}M_h\left[\exp^{[k]}\left\{\left(\rho_h^{[k]L^*}\left(f\right) + \varepsilon\right)\log\left[re^{L(r)}\right]\right\}\right]\\ i.e., \ M_g^{-1}M_f\left(r\right) &\leq M_g^{-1}M_g\left[\exp\left[\frac{\log^{[k]}\exp^{[k]}\left\{\left(\rho_h^{[k]L^*}\left(f\right) + \varepsilon\right)\log\left[re^{L(r)}\right]\right\}\right]}{\left(\rho_h^{[k]}\left(g\right) - \varepsilon\right)}\right]\\ j, \ \log M_g^{-1}M_f\left(r\right) &\leq \frac{\left(\rho_h^{[k]L^*} + \varepsilon\right)}{\left(\rho_h^{[k]}\left(g\right) - \varepsilon\right)}\log r \end{split}$$

$$i.e., \ \frac{\log M_g^{-1} M_f\left(r\right)}{\log r} \leq \frac{\left(\rho_h^{[k]L^*} + \varepsilon\right)}{\left(\rho_h^{[k]}\left(g\right) - \varepsilon\right)} \ .$$

Since ε (> 0) is arbitrary, we get from above that

$$\lambda_g^{L^*}(f) \le \frac{\rho_h^{[k]L^*}}{\rho_h^{[k]}(g)} \,. \tag{2.13}$$

Similarly from (2.4) and in view of (2.6), it follows for a sequence of values of r tending to infinity that

$$\begin{split} M_g^{-1}M_f\left(r\right) &\leq M_g^{-1}M_h\left[\exp^{[k]}\left\{\left(\lambda_h^{[k]L^*}\left(f\right) + \varepsilon\right)\log\left[re^{L(r)}\right]\right\}\right]\\ i.e., \ M_g^{-1}M_f\left(r\right) &\leq M_g^{-1}M_g\left[\exp\left[\frac{\log^{[k]}\exp^{[k]}\left\{\left(\lambda_h^{[k]L^*}\left(f\right) + \varepsilon\right)\log\left[re^{L(r)}\right]\right\}\right]}{\left(\lambda_h^{[k]}\left(g\right) - \varepsilon\right)}\right]\right]\\ i.e., \ \log M_g^{-1}M_f\left(r\right) &\leq \frac{\left(\lambda_h^{[k]L^*} + \varepsilon\right)}{\left(\lambda_h^{[k]}\left(g\right) - \varepsilon\right)}\log r\\ i.e., \ \frac{\log M_g^{-1}M_f\left(r\right)}{\log r} &\leq \frac{\left(\lambda_h^{[k]L^*} + \varepsilon\right)}{\left(\lambda_h^{[k]}\left(g\right) - \varepsilon\right)}\,. \end{split}$$

As ε (> 0) is arbitrary, we obtain from above that

$$\lambda_{g}^{L^{*}}(f) \leq \frac{\lambda_{h}^{[k]L^{*}}}{\lambda_{h}^{[k]}(g)} .$$
(2.14)

The theorem follows from (2.9), (2.10), (2.11), (2.12), (2.13) and (2.14).

In view of Theorem 2.1, one can easily deduce the following corollaries:

Corollary 2.2. Let f, g and h be any three entire functions such that $0 \le \lambda_h^{[k]L^*}(f) = \rho_h^{[k]L^*}(f) < \infty$ and $0 \le \lambda_h^{[k]}(g) \le \rho_h^{[k]}(g) < \infty$ where k is an integer ≥ 1 . Then

$$\lambda_{g}^{L^{*}}(f) = \frac{\rho_{h}^{[k]L^{*}}(f)}{\rho_{h}^{[k]}(g)} \quad and \quad \rho_{g}^{L^{*}}(f) = \frac{\rho_{h}^{[k]L^{*}}(f)}{\lambda_{h}^{[k]}(g)}$$

Corollary 2.3. Let f, g and h be any three entire functions such that $0 \le \lambda_h^{[k]L^*}(f) \le \rho_h^{[k]L^*}(f) < \infty$ and $0 \le \lambda_h^{[k]}(g) = \rho_h^{[k]}(g) < \infty$ where k is an integer ≥ 1 . Then

$$\lambda_{g}^{L^{*}}\left(f\right) = \frac{\lambda_{h}^{[k]L^{*}}\left(f\right)}{\rho_{h}^{[k]}\left(g\right)} \quad and \quad \rho_{g}^{L^{*}}\left(f\right) = \frac{\rho_{h}^{[k]L^{*}}\left(f\right)}{\rho_{h}^{[k]}\left(g\right)} \; .$$

Corollary 2.4. Let f, g and h be any three entire functions such that $0 \le \lambda_h^{[k]L^*}(f) = \rho_h^{[k]L^*}(f) < \infty$ and $0 \le \lambda_h^{[k]}(g) = \rho_h^{[k]}(g) < \infty$ where k is an integer ≥ 1 . Then

$$\lambda_{g}^{L^{*}}(f) = \rho_{g}^{L^{*}}(f) = \frac{\rho_{h}^{[k]L^{*}}(f)}{\rho_{h}^{[k]}(g)} \,.$$

Corollary 2.5. Let f, g and h be any three entire functions such that $0 \leq \lambda_h^{[k]L^*}(f) = \rho_h^{[k]L^*}(f) < \infty$ and $0 \leq \lambda_h^{[k]}(g) = \rho_h^{[k]}(g) < \infty$ where k is an integer ≥ 1 . Also suppose that $\rho_h^{[k]L^*}(f) = \rho_h^{[k]}(g)$. Then

$$\lambda_{g}^{L^{\ast}}\left(f\right)=\rho_{g}^{L^{\ast}}\left(f\right)=1\;.$$

Corollary 2.6. Let f and h be any two entire functions such that $0 \le \lambda_h^{[k]L^*}(f) \le \rho_h^{[k]L^*}(f) < \infty$. Then for any entire function g,

(i)
$$\lambda_g^{L^*}(f) = \infty$$
 when $\rho_h^{[k]}(g) = 0$,
(ii) $\rho_g^{L^*}(f) = \infty$ when $\lambda_h^{[k]}(g) = 0$,
(iii) $\lambda_g^{L^*}(f) = 0$ when $\rho_h^{[k]}(g) = \infty$

and

(iv)
$$\rho_g^{L^*}(f) = \infty$$
 when $\lambda_h^{[k]}(g) = \infty$.

where k is an integer ≥ 1 .

Corollary 2.7. Let g and h be any two entire functions such that $0 \le \lambda_h^{[k]}(g) \le \rho_h^{[k]}(g) < \infty$. Then for any entire function f,

(i)
$$\rho_g^{L^*}(f) = 0$$
 when $\rho_h^{[k]L^*}(f) = 0$,
(ii) $\lambda_g^{L^*}(f) = 0$ when $\lambda_h^{[k]L^*}(f) = 0$,
(iii) $\rho_g^{L^*}(f) = \infty$ when $\rho_h^{[k]L^*}(f) = \infty$

and

$$(iv) \ \lambda_g^{L^*}(f) = \infty \ \text{when} \ \lambda_h^{[k]L^*}(f) = \infty \ ,$$

where k is an integer ≥ 1 .

References

- [1] L. Bernal : Crecimiento relativo de funciones enteras. Contribuci´on al estudio de lasfunciones enteras con´indice exponencial finito, Doctoral Dissertation, University of Seville, Spain, 1984.
- [2] L. Bernal : Orden relative de crecimiento de funciones enteras, Collect. Math., Vol. 39 (1988), pp.209-229.
- [3] B. K. Lahiri and D. Banerjee : Generalised relative order of entire functions, Proc. Nat. Acad. Sci. India, Vol. 72(A), No. IV (2002), pp. 351-271.
- [4] D. Sato : On the rate of growth of entire functions of fast growth, Bull. Amer. Math. Soc., Vol. 69 (1963), pp. 411-414.
- [5] D. Somasundaram and R. Thamizharasi : A note on the entire functions of L-bounded index and L-type, Indian J. Pure Appl. Math., Vol. 19, No. 3 (March 1988), pp. 284-293.
- [6] E.C. Titchmarsh : The Theory of Functions , 2nd ed. Oxford University Press, Oxford ,1968.
- [7] G. Valiron : Lectures on the General Theory of Integral Functions, Chelsea Publishing Company, 1949.

Author information

Sanjib Kumar Datta, Department of Mathematics, University of Kalyani, P.O.-Kalyani, Dist-Nadia, PIN-741235, West Bengal, India.

E-mail: sanjib_kr_datta@yahoo.co.in

Tanmay Biswas, Rajbari, Rabindrapalli, R. N. Tagore Road, P.O.-Krishnagar, Dist-Nadia, PIN-741101, West Bengal, India.

 $E\text{-mail: tanmaybiswas_math@rediffmail.com}$

Received: September 16, 2016.

Accepted: January 13, 2017.